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=) memma] | BV |mmmx| @ | By |mmax| @ | B [mems] @& | B |mammx| @ | By [mmss] @ | B |mems] G | B0 |mmmr| @ | B |zeass| @ | B |mmms] /| BV |mmms
BHRL 0.30 [ssaL| ®anL]| 0.30 |REnt|mEnL| 0.35 [awaL|muaL] 0.40 |R#aL|fsal| 0.40 |REnL|fEneL] 0.40 [iwaL|fanal] 0.40 |Rsnl|mEnL] 0.30 [l mwaL] 0.30 |saaL]|ann] 0.30 |menL| w2 0.30
Rl 0.30 sl szl 0.30 [ ®inL] 0.35 |RunL|muaL| 0.40 [RuaL|®ial] 0.40 |RuaL]muaL| 0.40 [RuaLgia] 0.30 |#uaL|muaL| 0.40 |RuaL| g 0.40 |Ruac|muaL] 0.30 |rmaL gz 0.30
LA 0.30 [ssaL| ®aaL| 0.30 |REnt|mEnL| 0.35 [aEaL|muaL] 0.40 [RaaL|feal| 0.40 |REnL|fEneL] 0.40 [iwaL|fanal] 0.40 |Rsnl|mEnt] 0.40 [l wwaL] 0.30 saaL|ann] 0.30 |RsnL| 2L 0.30
Rl 0.30 sl sz 0.30 [ ®inL] 0.35 |RunL|muaL| 0.40 [RuaL|gial] 0.40 |RuaL]muaL| 0.40 [RuaLgial] 0.40 |REaL|muaL| 0.40 |RuaLgisn] 0.30 |Ruac|muaL| 0.30 |rmaL gz 0.30
BHRL 0.30 [ssaL|®aaL| 0.30 |REnt|mEnL| 0.35 [aEaL|muaL] 0.40 |R#nL|feal| 0.40 |REnL|fEneL] 0.40 [iwaL|fanl] 0.40 |Rsnl|mEnr] 0.40 [l mwaL] 0.30 |saaL]|ann] 0.30 |RenL| w2 0.30
Rl 0.30 sl 0.30 [l ®inL] 0.35 [RunL|muaL| 0.40 [RuaL|ial] 0.40 |RuaL]muaL| 0.40 [RuaLgian] 0.40 |REac|mmaL| 0.30 |RmaLgisa] 0.30 |Ruac|muaL| 0.30 |rmaL gz 0.30

0.30 EFEzL|EERLL 0.40 |EFRL|EEZRL] 0.35 |EZERL|RERL] 0.40 |RZERL|EE2RL] 0.40 =R EFE2RL] 0.40 |R=ERL|EF2%L] 0.40
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0.30 paewaL| L] 0.30 SR E2LL 0.35 | R ERLL 0.40 |=HEaL] L] 0.40 |RE2aL|RHE2Ll 0.40 |REARL 22Ul 0.40 |sERLI 2L 0.30 |RFERL #EZL 0.30 |5l E2LL 0.30 |22l #F2eL] 0.30

0.50 |ERL RERL] 0.30 |RERL|RERLL 0.3 |R=ERLIRERLL 0.40 |REaL]#E2RLl 0.40 |REaL]RERLl 0.40 |RERL| EE2L] 0.40 |RERLI AL 0.30 |RERL RERL] 0.30 [RERL|RERLL 0.30 |22 #E2RL] 0.30

0.30 |waL iz 0.30 SR L|BE2L 0.35 |RFeL[BERLl 0.40 |RHEaeL]| L] 0.40 |REaL| 2L 0.40 |REARL| EE2L] 0.40 |RERLIEZL] 0.30 |RFERL REZRL] 0.40 |5l 2E2Ll 0.30 |22l #F2L] 0.30

0.30 |ERL REaL] 0.30 |RERL|RERLL 0.3 |R=ERL RERLL 0.40 |REaL]#ERLl 0.40 |REaL|RERLl 0.40 |RERL| RE2L] 0.40 |RERLI AL 0.30 |RERL RERL] 0.30 [RERL|RERLL 0.30 |R=#E2L|#E2RL] 0.30

0.30 JERL| Bt 0.30 |&EaL#ERL] 0.35 |RERL|ZE2Ll 0.40 |REARL[#FE20] 0.40 |R=FRL|EERL] 0.40 |22 ZE2LL 0.40 |2FAL|#E2RL] 0.30 [#EaL|ZE20] 0.30 |2EA2RL|#FE2a0] 0.30 [R&FEaL]®E2eL] 0.30

0.30 |ERL REaL] 0.30 |RERL|RERLL 0.3 |R=ERL RERLL 0.40 |REaL]#E2RLl 0.40 |REaL|RERLl 0.40 |RERL| RE2L] 0.30 |RERLI AL 0.30 |RERL RERL] 0.30 [RERL|RERLL 0.30 |22 #E2RL] 0.30

0.30 &L BwaL] 0.40 |E=F2L EERLL 0.35 |E&FaL| Bzl 0.40 | =il 0.40 |EFzL | RERLL 0.30 |&FaL|RFE2L] 0.30 |ZFaL|RFE2L] 0.30 |R=ERL|2FE72L] 0.30 |R=ERL| 22 0.30 fRERL|2F2L] 0.30

il
0.30 |E#ARL| B2l 0.30 | &z &FeL] 0.35 | &L &L 0.40 ] R RERLL 0.30 [REALIRERL] 0.40 [RERL|ZE2L| 0.30 |REARL|#RFE2eL] 0.30 [R2FEaL|RERL] 0.30 [RFEeL]| 2% 0.30

0.30 J&aL L] 0.30 JRFEAL %2R 0.35 [RERL|ZEARL] 0.40 |R=EARL|EFERLL 0.40 |E2EARLRFE2Ll 0.30 |&FaL#E20L] 0.30 [RE4aL|ZERL] 0.30 a2t 0.30 |RZERL| £ FE2RL 0.30 | #E2zL] 0.30

0.30 |ERL REaL] 0.30 |RERL|RERLL 0.3 |R=ERL RERLL 0.40 |REaL]#ERLl 0.40 |REaL|RERLl 0.40 |RERL RE2L] 0.30 |RERLI AL 0.30 |RERL RERL] 0.40 [RERL|RERLL 0.30 |22 #E2RL] 0.30

0.30 |zl L] 0.30 |mFaL| sz 0.40 |mFaeL| 220 0.40 |RmEeL|2Fz0] 0.40 fRERL|2F20] 0.30 fRa4 L Z%20] 0.30 |Rwil|Zeel] 0.30 |wial|®aeL| 0.30 |RwaL 2] 0.30 JawiaL2%42L] 0.30

0.30 pEFRL | ®EaLl 0.30 |EFaL|#FERL] 0.40 |RFERLIRERLl 0.40 ] BERUBERLL 0.30 |RERL #ERLl 0.30 |REAaL|BERLl 0.30 RERLRERL] 0.30 |RERL 2L 0.30 |RERL RE2L] 0.30

0.30 [ FERU EERLL 0.40 PREARLIRERL] 0.40 [RERL|EEZLL 0.40 |REARL|#ERLD 0.30 |RFERLRERLL 0.30 |RERL | EE2LL 0.30 |REARLIRFE2RL] 0.30 [RERL]EE2Ll 0.30 |REARL|#HE2L] 0.30

0.30 |ERLfEaL] 0.30 PRERL|RERLL 0.40 |RERL RERLL 0.40 |RHEaL] 2Ll 0.40 |R&2L| RERLl 0.30 |RERL SE2L] 0.30 |RERLIAHZL] 0.30 |RERLRERL] 0.30 [RERL RERLL 0.30 =L #FE2L] 0.30

FHERLU R 0.30 |REARL|RERL] 0.40 [REARL BER2Ll 0.40 |RE2L[RERL 0.40 [RFERL[RFERLL 0.30 |REAL| ®ERL] 0.30 |R#FERL|#ERL] 0.30 [RFRL [ RE2L| 0.30 [RERL| Rl 0.30 |RERL|RERL] 0.30

0.30 pEFRL | ®EaLl 0.30 |E=FaL|#FERL] 0.40 |RFERL 22Ul 0.40 ] BERLBERLL 0.30 |RHERL|#ERLl 0.30 |REaLRERLl 0.30 RERL RERL] 0.30 |RERLAH2L] 0.30 |RERLRE2L] 0.30

0.30 |zl swzL] 0.30 [ weU | ®Eel 0.40 |RERLIRERLl 0.40 |RERLIRE2RL] 0.40 JRwRL kL] 0.30 JRERL| ekl 0.30 [RFE2aL| ekl 0.40 [RFaL| et 0.30 |2FaL]fwzL] 0.30

0.30 |ERLfEaL] 0.30 PRERL|RERLL 0.40 |RERL RERLL 0.40 2L #E2RLl 0.40 |RE2L|RERLl 0.30 |RERL SE2RL] 0.30 |RERLIAHZL] 0.30 |RERLRERL] 0.30 [RERL RERLL 0.30 =L #E2L] 0.30

0.30 |zl L] 0.35 |mFaL|fEzL] 0.40 |mFaL| Bz 0.40 |R=EeL| 2zl 0.40 fREeL|2F20] 0.30 |24 | Z%20] 0.30 |Rwil|®ael] 0.30 |wial|®aet| 0.30 |RwaL 2| 0.30 |awiaL 242t ] 0.30

0.30 |ERLfEaL] 0.35 |RERL|RERLL 0.40 |RERL RERLL 0.40 |22 #ERLl 0.40 |R&2L|RERLl 0.30 |RERL | SE2L] 0.30 |RERLIAHZL] 0.30 |RERLRERL] 0.30 [RERL RERLL 0.30 =2 #FE2L] 0.30

0.30 |ERL RuEaL] 0.35 |RERL|BERLL 0.40 |R=ERLIRERLL 0.40 |REaL]#ERLl 0.40 |REaL| B2l 0.30 |REARL| Rz 0.30 |RERLIRW2L] 0.30 |RFERL RERL] 0.30 [RERL|RERLL 0.30 |R=#E2L|#ERLl 0.30

0.30 JotEL|sERL] 0.35 JERL|®EARL] 0.40 RERLIRERL] 0.40 |RERLAERLL 0.40 |RERL|RERLl 0.30 |R&ERL[ERL] 0.40 |RERL|EFE2RL] 0.30 |RERL | RERL] 0.30 |REAaL]RE2Ll 0.30

0.40 pEFERL | EEARLL 0.35 |REALIRFERL] 0.40 |BERLIRERLl 0.40 |RERL &EEZ2LL 0.40 |REARLIRFEZRL] 0.30 [RERLEEA2Ll 0.30 |REARL #E2L] 0.30 |RERLIEFERL] 0.30 [RERL]E&E72L] 0.30

sl sanL] 0.35 L] 0.40 |azeL | ®azeLf 0.40 sEzL| B 0.30 sEzeL B 0.30 |RuaL| RuzeL] 0.30
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0.50 0.40 0.40 0.40 0.40 0.40 0.40 0.40 0.40 0.30 0.30
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=) memma] | BV |mmmx| @ | By |mmax| @ | B [mems] @& | B |mammx| @ | By [mmss] @ | B |mems] G | B0 |mmmr| @ | B |zeass| @ | B |mmms] /| BV |mmms
BHRL 0.30 [ssaL| ®aaL]| 0.30 |REnt|mEnL| 0.35 [awaL|muaL] 0.40 |R#aL|feal| 0.40 |REnL|fEneL] 0.40 [iwaL|fanal] 0.35 |msnl|mEnt] 0.30 [awnLmwaL] 0.40 |saaL]|®ann] 0.40 |weznL|mszL| 0.40
Rl 0.30 sl szl 0.30 [z ®inL] 0.35 |RunL|muaL| 0.40 [RuaL|®ial] 0.40 |Ruac]muaL| 0.40 [RuaL i) 0.30 |#iEaL|muaL| 0.40 |RuaL| a0 0.40 |Ruac|muaL| 0.40 |rmsaL gzl 0.40
LA 0.30 [ssaL| ®aaL| 0.30 |REnL|mEnl| 0.35 [aEaL|muaL] 0.40 [R#aL|feal| 0.40 |REnL|fEneL] 0.40 [iwaL|fanal] 0.40 |Rsnl|mEnt] 0.40 [l mwnaL] 0.40 |saaL]|®ann] 0.40 |wsznL| w2 0.40
Rl 0.30 sl sz 0.30 [ ®inL] 0.35 [RunL|muaL| 0.40 [uaL|gial] 0.40 |RuaL]muaL| 0.40 [RuaL il 0.40 |RuaL|maaL| 0.40 |RuaL| i) 0.40 |Ruac|muaL| 0.40 |rmaLgssa0] 0.40
BHRL 0.30 [ssaL|®aaL| 0.30 |REnt|mEnl| 0.35 [aEaL|muaL] 0.40 |R#nL|fesl| 0.40 |REnL|fEneL] 0.40 [iwaL|funal] 0.40 |Rsnl|mEnt] 0.40 [l wwaL] 0.40 |saaL]|®aEnn] 0.40 | ez w2 0.40
Rl 0.30 sl szl 0.30 [ ®inL] 0.35 [RunL|muaL| 0.40 [RuaL|®ial] 0.40 |RuaL]muaL| 0.40 [RuaLgian] 0.40 |REal|muaL| 0.30 |RuaL| i) 0.40 |RuEac|muaL| 0.40 |rmaL gzl 0.40

0.30 |EFzL|EERLL 0.45 |EFERL|EEZRL] 0.35 |EERL|RERL] 0.40 |RZERL|EERL] 0.40 |R=ERL|EFE2RL] 0.40 |R=ERL|EF2%L] 0.40
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0.30 paewaL| L] 0.30 SR E2LL 0.35 |R=FERL ERLL 0.40 |=HEaL] L] 0.40 |RE2aL]RHE2Ll 0.40 |EHRL | RE2L] 0.40 |RERLIERZL] 0.40 |RFERLIREZRL 0.40 |52 ERLL 0.40 =% #F2eL] 0.40

0.50 |ERL RERL] 0.30 |RERL|RERLL 0.3 |R=ERLIRERLL 0.40 |REaL]#E2RLl 0.40 |REaL|RERLl 0.40 |RERL| RE2L] 0.40 |RERLI AL 0.40 |RERL RERL] 0.40 [RERL|RERLL 0.40 |R=#E2L|#ERLl 0.40

0.30 |waL iz 0.30 SR BE2L 0.3 |R=FRL[BERLl 0.40 |RHEaeL]| L] 0.40 |REaL]8F2eL] 0.40 &AL EE2L] 0.40 |RERLIERZL] 0.40 |RFERL EEZL 0.40 || 2E2Ll 0.40 |R=%2eL|#F2L] 0.40

0.30 |ERL[REaL] 0.30 |RERL|RERLL 0.3 |R=ERL RERLL 0.40 |REaL]#ERL 0.40 |REaL|RERLl 0.40 |RERL| RE2L] 0.40 |RERLI AL 0.40 |RERL RERL] 0.40 [RERL|RERLL 0.40 |R=#E2L|#ERL] 0.40

0.30 |waL w7z 0.30 || ®E2L 0.3 |R=FeL[BERLl 0.40 |RHEaL] L] 0.40 |REaL] 2L 0.40 |REARL|EE2L] 0.40 |RERLIERZL] 0.40 |RFERLIREZL 0.40 |5 2E2Ll 0.40 |22 #F2L] 0.40

0.30 |ERLREaL] 0.30 |RERL|RERLL 0.3 |R=ERL RERLL 0.40 |REaL]#ERLl 0.40 |REaL|RERLl 0.40 |RERL| RE2L] 0.30 |RERLI AL 0.40 |RERL RERL] 0.40 [RERL|RERLL 0.40 |R=#E2L|#ERL] 0.40

0.30 &L ®HaL] 0.30 |E=EaL|#Eal] 0.35 |#FEaL| ®ER 0.40 |2F4RL 0.40 JE&RL | EEALL 0.40 |RERLI#ERL] 0.30 |RERL|RERLl 0.40 |RERL #E2L] 0.40 [RERLIEFERL] 0.40 [RERL]®E%L] 0.40

il
0.30 |E#ARL| B2l 0.30 | &z &FeL] 0.35 | &L &L 0.40 ] U RERLL 0.30 [REALIRFERL] 0.35 [RERL|ZE2L| 0.40 |REARL RFE2RL] 0.40 |R2FEARL|RERL] 0.40 [RFERL| 2%l 0.40

0.30 |aL fumaL] 0.30 || #E2L 0.3 |R=FRL[BERLl 0.40 |RHEaeL]| L] 0.40 |REaL] 2L 0.30 |HEARL| Rz 0.30 |RERLIEZRL] 0.40 |RFERL REZL] 0.40 SRR 2E2LL 0.40 |22l #F2L] 0.40

0.30 |ERL[REaL] 0.30 |RERL|RERLL 0.3 |R=ERL RERLL 0.40 |REaL]#ERL 0.40 |REaL|RERLl 0.40 |RERL RE2L] 0.30 |RERLI AL 0.40 |RERL RERL] 0.40 [RERL RERLL 0.40 |R=#E2L|#E2RLl 0.40

0.30 | aL iz 0.30 |RERL|RERLL 0.40 |R=FERL[RERLL 0.40 |RHEaeL] L] 0.40 |R%aL| 2Ll 0.30 |REARL| REaL] 0.30 |RERLIEEZRL] 0.40 |RFERL RERL 0.40 R RERLL 0.40 |22l #E2L] 0.40

0.30 pEFRL | ®EaLl 0.30 |EFaL|#FERL] 0.40 |RFERLIRERLl 0.40 ] BERLBERLL 0.30 |RERL | #ERLl 0.30 |REaLRERLl 0.40 |RERLRERL] 0.40 |RERLIRARZ2L] 0.40 |RFERLREZRL] 0.40

0.30 [ e ®EeL] 0.40 |RwRURERLl 0.40 JRERUIRE2RL| 0.40 JEwaL 24| 0.30 JREaL| ekl 0.30 |2 L] 0.40 |RFEzL| e 0.40 |R2FaL|fEL] 0.40 |2a7aL] w20l 0.40

0.30 |ERL iz 0.30 PRERL|RERLL 0.40 |RERL RERLL 0.40 |REaL]#E2RLl 0.40 |RE2L| RERLl 0.30 |RERL SE2RL] 0.30 |RERLIAHZRL] 0.40 |RERLIRERL] 0.40 [RERL RERLL 0.40 2= #E2RL] 0.40

Sz U | BERLl 0.30 [REARL| EERL] 0.40 |PREARLI 2L 0.40 |RFERLIEERL] 0.40 R R RERLL 0.30 |REaL|®ERLl 0.30 |REaL] &L 0.40 [REARL|RERL] 0.40 |RERLE%EZ2L] 0.40 |RFERLIRE2L] 0.40

0.30 pEFRL | ®EaLl 0.30 |E=FaL|#FERL] 0.40 |RFERL 22Ul 0.40 ] BERLBERLL 0.30 |RERL | #ERLl 0.30 |REaLRERLl 0.40 |RERLRERL] 0.40 |RERLRAHZ2L] 0.40 |RFERLRE2L] 0.40

0.30 |zl swzL] 0.30 [ weU ®Eel 0.40 |RERLRERLl 0.40 |RERLI =L 0.30 JRwaL 2l 0.30 [RERL| Rkl 0.40 |RFEzL| ek 0.40 [RFaL| et 0.40 |R2F7aL] sz 0.40

0.30 |ERL %z 0.30 PRERL|RERLL 0.40 |RERL RERLL 0.40 2L #E2RLl 0.40 |R&2L|RERLl 0.30 |RERL SE2RL] 0.30 |RERLIAHZL] 0.40 |RERLIRERL] 0.40 [RERL RERLL 0.40 |R=#E2L|#E2Ll 0.50

0.30 | aL fuaL] 0.35 |RERL|REARLL 0.40 |R=FERL[RERLL 0.40 |RHEaL] el 0.40 |R%aL| Rl 0.30 |REARL| REaeL] 0.30 |RERLIEEZRL] 0.40 |RFERL RERL 0.40 R RERLL 0.40 |22l #E2L] 0.40

0.30 |ERLfEaL] 0.35 |RERL|RERLL 0.40 |RERL RERLL 0.40 =L #E2RLl 0.40 |R&2L|RERLl 0.30 |RERL SE2RL] 0.30 |RERLIAHZL] 0.40 |RERLIRERL] 0.40 [RERL RERLL 0.40 |R=#E2L|#E2RLl 0.40

0.30 |ERL RuEaL] 0.35 |RERL|BERLL 0.40 |R=ERLIRERLL 0.40 |REaL]#ERLl 0.40 |REaL| B2l 0.30 |REARL| B2l 0.30 |RERLIRWAL] 0.40 |RFERL RERL] 0.40 |RERL [ RERLL 0.40 |R=E2L|#ERLl 0.40

0.30 JotEL|ERL] 0.35 JERL|®EARL] 0.40 PRERLIEERL] 0.40 |REARLAERLL 0.40 |RERLRERLl 0.30 JR&ERL[ERL] 0.40 |RERL|EFE2RL] 0.40 [RERL | RERL] 0.40 |REARL| 2Ll 0.40

0.40 pEFERL | EEARLL 0.35 |EBEALIRFERL] 0.40 |BERLIRERLl 0.40 |BERL &EEZ2LL 0.40 |REARLIRFERL] 0.30 [RERLEEA2Ll 0.30 |REARL #ERL] 0.40 |RERLIEERL] 0.40 [RERL|EE2L] 0.40

sl sanL] 0.35 L] 0.40 |azeL | ®azeLf 0.40 sEzL| B 0.30 sz B 0.40 || RazeL] 0.40

0.31 0.32 0.37 0.40 0.40 0.35 0.34 0.39 0.40 0.40 0.40

0.50 0.45 0.40 0.40 0.40 0.40 0.40 0.40 0.40 0.40 0.50

0.30 0.30 0.35 0.40 0.40 0.30 0.30 0.30 0.40 0.40 0.40
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=) memma] | BV |mmmx| @ | By |mmax| @ | B [mems] @& | B |mammx| @ | By [mmss] @ | B |mems] G | B0 |mmmr| @ | B |zeass| @ | B |mmms] /| BV |mmms
BHRL 0.45 [ssaL| ®anL| 0.45 | Rl mEnL| 0.50 [aEaL|muaL] 0.50 [R#aL|fsal| 0.50 |REnL|fEneL] 0.50 [iwaL|fanl] 0.50 |Rsnr|mEn] 0.50 [zl mwaL] 0.50 [saaL]|ann] 0.50 |wEnL|wszL| 0.50
Rl 0.45 |l el 0.45 [l ®inL] 0.50 Rl muzaL 0.50 [RuaL| i 0.50 |RiaL]muaL| 0.50 [#uaLgia] 0.50 |#iac|muaL| 0.50 |RuaL i) 0.50 |#iaL|muaL| 0.50 |rmzaL|gssa] 0.50
LA 0.45 [ssaL| ®anL]| 0.45 | Rl mEnL| 0.50 [aEaL|muaL] 0.50 [R#aL|feal| 0.50 |RErL|fEneL] 0.50 [iwaL]|fanal] 0.60 |RunL|mEnt] 0.50 [zl mwaL] 0.50 [saaL]|anL] 0.50 |REnL|wszL| 0.50
Rl 0.45 |samaL| el 0.45 [l ®inL] 0.50 Rl muaL 0.50 [RuaL|gial] 0.50 |RiaL]mmaL 0.50 [#uaLgisa] 0.60 |#iaL|mmaL| 0.50 |RuaLgisn] 0.50 [#iac|muaL| 0.50 |rmsaLgssag] 0.50
BHRL 0.45 [ssaL| ®anL]| 0.45 | Rl wEnL| 0.50 [sEaL|muaL] 0.50 [R#aL|fesl| 0.50 |REnL|fEneL] 0.50 [iwaL|fanl] 0.60 |RusnL|mEnt] 0.50 [l mwaL] 0.50 [saaL]|anL] 0.50 |REnL|wszL| 0.50
Rl 0.45 |l el 0.45 [l ®inL] 0.50 |®iaL|muaL 0.50 [RuaL|gia] 0.50 |RiaL]muaL 0.50 [RuaL i) 0.60 |#iaL|mmaL| 0.50 |RuaL| i) 0.50 |RiEaL|muaL| 0.50 |rmaLgssag] 0.50
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